Cubics + 4 : Pust faper Examples

) The polynomial N
) 3 plx) = p7c3—7c tgx -6

has -3 as a factor . When F(x) s dwided 6\7 x-2 bhe
reman der s  -20.

a shao Ehat =2 and ,C’md

@> Factorise F(?c) f v

2) Whea Q'x3+ b * =55¢ + P is diwiced ?j o Sl | the rema;nc/er
w 8.
a) show that p=-2
b) fackorise G +bx- 53 -2

3) a) Qwern fha,l: x-3 if a /[acéor o/ 363— Sxt— 2x +ID )
shaw p= 24
b) Solve x3- 52°- 2% +d¢ = O
c.) find the remander when Jc3- Sx -2x +14 s divided
bj -2

q.) a) lohen - <bx + axcIeh=2- =’ huidd lfj x+2 fhe remainder
is -a2k. Shaw a=5.
b) Facéon’se =
bx +6x"-3x -2
5) “The pobnmial, l.l-x3+/9xl-//z +9  has x-2 a5 a /ac/or_
Whea cwided by x+1 the remainder & 9 .
a) show =-4 and ¢ =6
b)) Fad—on‘sf Y~ hx* |lx +6

b) a) (ohen a‘)Cs-'/Q)cl‘é)c +5 i divided "j e+l the
remander » -3. Find a .

b) Factarise g~ M =Tre + 6
7) FO) s defined by fOx) = 2x + "4 bx -5
a) G) Evaluate F(-2)
G) Henw wite down one gact Yy can deduce about F(x)
b) Solve bhe equabion  £(x) =0
g} ) Find the remainder when  x-3 W dwided by 2 .

b) Sohe.  bwax =lle=b =0



Q) 03 Gwen that w42 1S a Pad‘or oF /Qx3+kxt~ I3x—é
write dowun  on et‘ucd:nor\ sab’ffu‘ed ld k . Henee show
that k=19

b) Fackorice  (22°+ 1927~ 13x — 6 3
) Find bhe remander  whea 125+ 19% =13 =6 s
dwided ‘TJ 2x -1

‘O) —We Pobﬂmo}v P)c -x “3|‘Jc +q has x+2 as « facéof.
dnorw.oi o  divided bj x-1 the remander w —3b

a) show  p=06 and g =-10
b) fadorse bx'-xT-3lx — IO

D) a) When ax>-alx - 10 i dwidd by x-3 the remaader
ig - 35 - 3

b) Cackorise Gx*-2Alx - 10

11) a) Solve 6753—1‘77:1 +llx +6 =0

b)  lhea x°-83 i dwided by x-a  the remainder
vs M Fnd  bhe value of a.

3) & wen bhak  xt2 s fackor of P7‘3+ I8 = Ly -8
> > wfr)*e_ down  an e;waﬁm gak\sﬁed bj P .
Hene show bhak p= q

b)  Solve 92’ + 83 -x -8 = O



